Punjab University Journal of Mathematics (2023), 55(11-12), 463-470 https://doi.org/10.52280/pujm.2023.55(11-12)04

ROOTS OF TRIANGULAR MATRICES

Mohamed Tahar Mezeddek Common Core Department, Mustapha Stambouli University, Faculty of Science and Technology, Mascara, 29000 Algeria, Email: tahar.mezeddek@univ-mascara.dz

Ismaiel Krim Department of Science and Technology, Ibn-Khaldoun University, Faculty of Applied Sciences, BP P 78 zaâroura 14000, Tiaret, Algeria, Email: krim.ismaiel@yahoo.fr

Bachir Raho Maachou Department of Physics, University of Oran 1, Faculty of Sciences, B.P.1525, El M'Naouer, 31000, Oran, Algeria, Email: bachiraho2000@yahoo.fr

Received: 04 October, 2022 / Accepted: 15 December, 2023 / Published online: 29 Febraury, 2024

Abstract. This work is concerned with determining a general expression for roots of upper and lower triangular matrices with a constant diagonal. Numerical examples of the results are also presented.

AMS (MOS) Subject Classification Codes: 15B99; 47B35

Key Words: Triangular martrix, root, nilpotent matrix, Newton's binomial.

1. INTRODUCTION

Roots of matrices can be useful in many technical problems such as the resolution of matrix differential equations, nonlinear matrix equations, Markov models of finance and matrix sign functions and the computation of matrix logarithm. Recently, the computation of roots of matrices has been a popular problem. There are many papers on this topic [1, 4, 8, 13, 14, 16]. We recall that all diagonalizable and nonsingular matrices have a p^{th} root. Furthermore, a p^{th} root of matrix is not necessarily unique. Some singular matrices have p^{th} roots (see [16]). Various methods are used by researchers for finding roots of matrices. For example, diagonalization method for diagonalizable matrices [16], Shur decomposition method for nonsingular matrices [15, 16], in [8, 9] Guo and Lannazzo used

the famous iterative method (Newton's iteration method) to compute a p^{th} root of matrices having a norm less than 1, in [8] Guo used Halley's method which is another iterative method converges faster than Newton's method to find a p^{th} root of matrix, an iterative algorithm to compute a p^{th} root of matrix was given by Arias et al in [1] by Newton's binominal application, in [3] Ben Taher et al developed two methods based on the primary matrix functions and minimal polynomial. For details about matrix functions and theory of matrices we refer the reader to the books [7, 6, 2, 5, 11, 12].

2. MAIN RESULTS

Our goal in this paper is to find a p^{th} root of a unipotent triangular matrix A based on positive integer power of its nilpotent part and the series obtained by Newton's binominal. Main results are illustrated by given examples.

Let $A = (a_{ij})_{1 \le i,j \le n} \in M_n(\mathbb{R})$ be a triangular matrix with constant diagonal $(a_{ii} = 1, \forall i \in \{1, \ldots, n\})$.

• If A is an upper triangular matrix, then it's given by

$$A = \begin{pmatrix} 1 & a_{1\,2} & \cdots & a_{1\,n} \\ 0 & 1 & \ddots & \vdots \\ \vdots & \ddots & \ddots & a_{n-1\,n} \\ 0 & \cdots & 0 & 1 \end{pmatrix}$$
(2.1)

• If A is a lower triangular matrix, then it's given by

$$A = \begin{pmatrix} 1 & 0 & \cdots & 0 \\ a_{21} & 1 & \ddots & \vdots \\ \vdots & \ddots & \ddots & 0 \\ a_{n1} & \cdots & a_{nn-1} & 1 \end{pmatrix}$$
(2.2)

In both cases, A is a unipotent matrix, that is A = I + T with T nilpotent matrix. More precisely, $T = (t_{ij})$ where

$$t_{ij} = \begin{cases} a_{ij} & \text{if } i \neq j \\ 0 & \text{if } i = j \end{cases}$$

Let p be a positive integer, any matrix R such that $R^p = A$ is called a p^{th} root of A. The problem is to compute a p^{th} root (denoted by $A^{\frac{1}{p}}$) of A for all positive integers rather greater than 1 in both the cases where A is an upper triangular and a lower triangular unipotent matrix A given by (2.1) and (2.2).

The following theorem gives a method to calculate the entries of $A^{\frac{1}{p}}$.

Theorem 2.1. Let $A = (a_{ij})_{1 \le i,j \le n}$ be a triangular unipotent matrix with constant diagonal $(a_{ii} = 1, \forall i \in \{1, ..., n\})$ and let $A^{\frac{1}{p}} = (\alpha_{ij})_{1 \le i,j \le n}$ for all positive integer p > 1, then

• *if A is an upper triangular matrix, we have*

$$\alpha_{i\,j} = \begin{cases} 0 & \text{if } i > j \\ 1 & \text{if } i = j \\ \frac{1}{p} t_{ij} + \frac{\frac{1}{p} \left(\frac{1}{p} - 1\right)}{2!} \sum_{i \le k \le j} t_{ik} t_{kj} + \dots + \frac{\frac{1}{p} \left(\frac{1}{p} - 1\right) \dots \left(\frac{1}{p} - n + 2\right)}{(n-1)!} \sum_{i \le k_1 \le \dots \le k_{n-2} \le j} t_{ik_1} t_{k_1 k_2} \dots t_{k_{n-2} j} & \text{if } i < j \end{cases}$$

$$(2.3)$$

• if A is a lower triangular matrix, we have

$$\begin{pmatrix}
0 \\
if i < j \\
if i = j
\end{cases}$$

$$\alpha_{ij} = \begin{cases} 1 & \text{if } i = \\ \frac{1}{p} t_{ij} + \frac{\frac{1}{p} \left(\frac{1}{p} - 1\right)}{2!} \sum_{i \ge k \ge j} t_{ik} t_{kj} + \dots + \frac{\frac{1}{p} \left(\frac{1}{p} - 1\right) \cdots \left(\frac{1}{p} - n + 2\right)}{(n-1)!} \sum_{i \ge k_1 \ge \dots \ge k_{n-2} \ge j} t_{ik_1} t_{k_1 k_2} \cdots t_{k_{n-2} j} & \text{if } i > j \end{cases}$$

$$(2.4)$$

To prove this theorem we need the following lemmas:

Lemma 2.2. If $A = (a_{ij})_{n \times n}$ is an upper triangular matrix, then so is $A^p = (\alpha_{ij})_{n \times n}$ and

$$\alpha_{ij} = \begin{cases} 0 & \text{if } i > j \\ a_{ii}^p & \text{if } i = j \\ \sum_{i \le k_1 \le \dots \le k_{p-1} \le j} a_{ik_1} a_{k_1 k_2} \cdots a_{k_{p-1} j} & \text{if } i < j \end{cases}$$

Lemma 2.3. If $A = (a_{ij})_{n \times n}$ is a lower triangular matrix, then so is $A^p = (\alpha_{ij})_{n \times n}$ and

$$\alpha_{ij} = \begin{cases} 0 & \text{if } i < j \\ a_{ii}^p & \text{if } i = j \\ \sum_{i \ge k_1 \ge \dots \ge k_{p-1} \ge j} a_{ik_1} a_{k_1 k_2} \cdots a_{k_{p-1} j} & \text{if } i > j \end{cases}$$

We will prove the Lemma 2.3 by induction on p.

Proof. For p = 2, we have

$$A^{2} = \begin{pmatrix} a_{11} & 0 & \cdots & 0 \\ a_{21} & a_{22} & \cdots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ a_{n1} & a_{n2} & \cdots & a_{nn} \end{pmatrix}^{2}$$
$$= \begin{pmatrix} a_{11}^{2} & 0 & \cdots & 0 \\ a_{21}a_{11} + a_{21}a_{22} & a_{22}^{2} & \cdots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ a_{n1}a_{11} + a_{n2}a_{21} + \cdots + a_{nn}a_{n1} & a_{n2}a_{22} + a_{n3}a_{32} + \cdots + a_{nn}a_{n2} & \cdots & a_{nn}^{2} \end{pmatrix}$$
$$= (\alpha_{ij})_{1 \le i,j \le n}.$$

So A^2 is a lower triangular matrix and we have for all $i, j, 1 \le i, j \le n$,

$$\alpha_{ij} = \begin{cases} 0 & if \quad i < j, \\ a_{ii}^2 & if \quad i = j, \\ \sum_{i \ge k \ge j} a_{ik} a_{kj} & if \quad i > j. \end{cases}$$

Suppose that the result is true for $p \ge 2$. Assume such that $A^p = (\alpha_{ij})_{1 \le i,j \le n}$ where

$$\alpha_{ij} = \begin{cases} 0 & if \quad i < j, \\ a_{ii}^p & if \quad i = j, \\ \sum_{i \ge k_1 \ge \dots \ge k_{p-1} \ge j} a_{ik_1} a_{k_1 k_2} \cdots a_{k_{p-1} j} & if \quad i > j. \end{cases}$$

Consider case p + 1. By the induction hypothesis we have

$$\begin{split} A^{p+1} = & A^p A \\ &= \begin{pmatrix} \alpha_{11} & 0 & \cdots & 0 \\ \alpha_{21} & \alpha_{22} & \cdots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ \alpha_{n1} & \alpha_{n2} & \cdots & \alpha_{nn} \end{pmatrix} \times \begin{pmatrix} a_{11} & 0 & \cdots & 0 \\ a_{21} & a_{22} & \cdots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ a_{n1} & a_{n2} & \cdots & a_{nn} \end{pmatrix} \\ &= \begin{pmatrix} \alpha_{11}a_{11} & 0 & \cdots & 0 \\ \alpha_{21}a_{11} + \alpha_{22}a_{21} & \alpha_{22}a_{22} & \cdots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ \alpha_{n1}a_{11} + \alpha_{n2}a_{21} + \cdots + \alpha_{nn}a_{n1} & \alpha_{n2}a_{22} + \alpha_{n3}a_{32} + \cdots + \alpha_{nn}a_{n2} & \cdots & \alpha_{nn}a_{nn} \end{pmatrix} \\ &= (\beta_{ij})_{1 \le i,j \le n}. \end{split}$$

Where

For i < j, we have

$$\beta_{ij} = 0.$$

For i = j, we have

$$\beta_{ii} = \alpha_{ii}a_{ii} = a_{ii}^p a_{ii} = a_{ii}^{p+1}.$$

For i > j we have

$$\beta_{ij} = \sum_{k=j}^{i} \alpha_{ik} a_{kj}$$
$$= \sum_{k=j}^{i} \left(\sum_{i \ge k_1 \ge \dots \ge k_{p-1} \ge k} a_{ik_1} a_{k_1k_2} \cdots a_{k_{p-1}k} \right) a_{kj}$$
$$= \sum_{i \ge k_1 \ge \dots \ge k_p \ge j} a_{ik_1} a_{k_1k_2} \cdots a_{k_pj}.$$

Proof of theorem

First we write A as follow

$$A = I + T \tag{2.5}$$

where I is the identity matrix of order n and $T = (t_{ij})_{1 \le i,j \le n}$ is a strictly triangular matrix which is nilpotent of degree at most n with $t_{ij} = a_{ij}$ for all $i \ne j$ and $t_{ij} = 0$ for i = j. The matrices T and I commute so, we can apply the Newton's theorem. Let p be a rational number, the Newton's theorem [1] can be expressed by the following expression:

$$(1+x)^p = 1 + p_1 x + p_2 x^2 + p_3 x^3 + \dots$$

with $p_m = \frac{p(p-1)\cdots(p-m+1)}{m!}$, for all $m \in \mathbb{N}$.

In the matrix case, the expression is:

$$A^{p} = (I+T)^{p} = I + pT + \frac{p(p-1)}{2!}T^{2} + \dots + \frac{p(p-1)\cdots(p-n+1)}{n!}T^{n} + \dots$$
(2.6)

Since T is a nilpotent matrix of degree at most n (this confirms the convergence of the series (2.6) because $T^m = 0$, $\forall m \ge n$), A^p is exactly the sum of the first n terms of (2.6).

We suppose now p is a positive integer number. Then a p^{th} root of A is given by:

$$A^{\frac{1}{p}} = (I+T)^{\frac{1}{p}}$$

$$= I + \frac{1}{p}T + \frac{\frac{1}{p}\left(\frac{1}{p}-1\right)}{2!}T^{2} + \dots + \frac{\frac{1}{p}\left(\frac{1}{p}-1\right)\cdots\left(\frac{1}{p}-n+2\right)}{(n-1)!}T^{n-1}.$$
(2.7)

We end the proof by replacing T, T^2, \dots, T^{n-1} in the last sum by their formulas in Lemma 2.2 and Lemma 2.3.

3. EXAMPLES

Example 3.1. Let p = 3 and

$$A = \begin{pmatrix} 1 & 0 & 0 & 0 \\ 2 & 1 & 0 & 0 \\ 1 & 3 & 1 & 0 \\ 1 & 0 & 5 & 1 \end{pmatrix} = I + \underbrace{\begin{pmatrix} 0 & 0 & 0 & 0 \\ 2 & 0 & 0 & 0 \\ 1 & 3 & 0 & 0 \\ 1 & 0 & 5 & 0 \end{pmatrix}}_{T}$$

It is clear that T is a nilpotent matrix of degree 4 ($T^4 = T^5 = \cdots = 0$).

So by using Theorem 2.1 we have

$$A^{\frac{1}{3}} = I + \frac{1}{3}T + \frac{\frac{1}{3}(\frac{1}{3}-1)}{2!}T^{2} + \frac{\frac{1}{3}(\frac{1}{3}-1)(\frac{1}{3}-2)}{3!}T^{3}$$
$$= \begin{pmatrix} 1 & & \\ \alpha_{21} & 1 & \\ \alpha_{31} & \alpha_{32} & 1 \\ \alpha_{41} & \alpha_{42} & \alpha_{43} & 1 \end{pmatrix}$$

Where

$$\begin{aligned} \alpha_{i\,j} &= \begin{cases} 0 & \text{if } i < j \\ 1 & \text{if } i = j \\ \frac{1}{3}t_{ij} + \frac{\frac{1}{3}\left(\frac{1}{3}-1\right)}{2!} \sum_{i \ge k \ge j} t_{ik}t_{kj} + \frac{\frac{1}{3}\left(\frac{1}{3}-1\right)\left(\frac{1}{3}-2\right)}{(3)!} \sum_{i \ge k_1 \ge k_2 \ge j} t_{ik_1}t_{k_1k_2}t_{k_2j} & \text{if } i > j \end{cases} \\ &= \begin{cases} 0 & \text{if } i < j \\ 1 & \text{if } i = j \\ \frac{1}{3}t_{ij} - \frac{1}{9} \sum_{i \ge k \ge j} t_{ik}t_{kj} + \frac{5}{81} \sum_{i \ge k_1 \ge k_2 \ge j} t_{ik_1}t_{k_1k_2}t_{k_2j} & \text{if } i > j \end{cases} \end{aligned}$$

Then

$$\begin{aligned} \alpha_{21} &= \frac{1}{3} \times (2) - \frac{1}{9} \left(0 \times 2 + 2 \times 0 \right) + \frac{5}{81} \times (0) = \frac{2}{3}. \\ \alpha_{31} &= \frac{1}{3} \times (1) - \frac{1}{9} \times (6) + \frac{5}{81} \times (0) = -\frac{1}{3} \\ \alpha_{32} &= \frac{1}{3} \times (3) - \frac{1}{9} \left(0 \right) + \frac{5}{81} \left(0 \right) = 1 \\ \alpha_{41} &= \frac{1}{3} \times (1) - \frac{1}{9} \times (5) + \frac{5}{81} \times (30) = \frac{44}{27}. \\ \alpha_{42} &= \frac{1}{3} \times (0) - \frac{1}{9} \times 15 + \frac{5}{81} \times (0) = -\frac{5}{3} \\ \alpha_{43} &= \frac{1}{3} \times 5 - \frac{1}{9} \left(0 \right) + \frac{5}{81} \left(0 \right) = \frac{5}{3}. \end{aligned}$$

Then a third root of A is given by:

$$A^{\frac{1}{3}} = \begin{pmatrix} 1 & & \\ \frac{2}{3} & 1 & \\ -\frac{1}{3} & 1 & 1 & \\ \frac{44}{27} & -\frac{5}{3} & \frac{5}{3} & 1 \end{pmatrix}$$

Example 3.2. Let p = 3 and

$$B = A^{T} = \begin{pmatrix} 1 & 2 & 1 & 1 \\ 0 & 1 & 3 & 0 \\ 0 & 0 & 1 & 5 \\ 0 & 0 & 0 & 1 \end{pmatrix} = I + \underbrace{\begin{pmatrix} 0 & 2 & 1 & 1 \\ 0 & 0 & 3 & 0 \\ 0 & 0 & 0 & 5 \\ 0 & 0 & 0 & 0 \end{pmatrix}}_{T}$$

We note first that

$$(A^{\frac{1}{3}})^{T} = \left(I + \frac{1}{3}T + \frac{\frac{1}{3}\left(\frac{1}{3} - 1\right)}{2!}T^{2} + \frac{\frac{1}{3}\left(\frac{1}{3} - 1\right)\left(\frac{1}{3} - 2\right)}{3!}T^{3}\right)^{T} = (A^{T})^{\frac{1}{3}} = B^{\frac{1}{3}}$$

So by using Theorem 2.1 and after calculations similar to the previous example, we obtain

$$B^{\frac{1}{3}} = \begin{pmatrix} 1 & \frac{2}{3} & -\frac{1}{3} & \frac{44}{27} \\ 0 & 1 & 1 & -\frac{5}{3} \\ 0 & 0 & 1 & \frac{5}{3} \\ 0 & 0 & 0 & 1 \end{pmatrix}$$

Remark 3.3. If we take a triangular matrix A with diagonal elements equal to $k \neq 1$ then we write A = k (I + S) with S is a strictly triangular matrix. Then, a p^{th} root of A can be obtained.

4. CONCLUSION

In this paper, we derive a general expression for a p^{th} root of a triangular matrix with diagonal elements equal to 1 for any positive integer p. Also we prove that it has the same form. We can use these results in the decomposition of matrices and to compute the roots of other classes of matrices.

5. ACKNOWLEDGMENTS

The authors thank the referees for their wonderful comments, suggestions, and ideas that helped improve this paper.

6. AUTHOR CONTRIBUTIONS.

Conceptualization, M T. M. and I. K; methodology, M. T. M.; validation, M. T. M. and I. K.; writing-original draft preparation, I. K.; review and editing, M T. M.; and B. R. M.; supervision, B. R. M.; All authors have read and agreed to the published version of the manuscript.

REFERENCES

- A. Arias, E. Gutierrez, E. Pozo, Binomial theorem applications in matrix fractional powers calculation, Periodica Polytechnica Transportation Engineering, 18, No.1-2, (1993) 75-79.
- [2] E. Aljadeff, A. Kanel-Belov, *Representability and Specht problem for G-graded algebras*, Adv. Math, 225, No.(5)(2010), 2391-2428.
- [3] R. Ben Taher, Y. El Khatabi and M. Rachidi, Some Formulas for the Principal Matrix pth Root, Int. J. Contemp. Math. Sciences, 3, No.9, (2014). 141-152
- [4] D.A. Bini, N.J. Higham, B. Meini, Algorithms for the matrix pth root, Numer. Algorithms, 39 (2005) 349-378.
- [5] L. Centrone, A. Estrada, A. Ioppolo, On PI-algebras with additional structures: rationality of Hilbert series and Spechr's problem, J. Algebra, 592 (2022) 300-356.
- [6] V. Drensky, Free algebras and PI-algebras. Graduate course in algebra, Springer-Verlag Singapore, Singapore, 2000.
- [7] A. Giambruno, M. Zaicev, Polynomial identities and asymptotic methods, Mathematical Surveys and Monographs, 122. American Mathematical Society, Providence, RI, 2005.
- [8] C-H. Guo, On Newton's method and Halley's method for the principal pth root of a matrix, Linear Algebra and its Applications, 432 (2010) 1905-1922.
- [9] B. Iannazzo, On the Newton method for the matrix p^{th} root, SIAM J. Matrix Anal. Appl, 28 (2006) 503-523.
- [10] B. Iannazzo, A family of rational iterations and its applications to the computation of the matrix pth root, SIAM J. Matrix Anal. Appl, 30 (2008), 1445-1462.
- [11] Y. Karasik, *Kemer's theory for H-module algebras with application to the PI exponent*, J. Algebra, 457 (2016) 194-227.
- [12] A. Kemer, *Finite basability of identities of associative algebras*, Algebra i Logika 26, No.5 (1987), 597-641, 650.
- [13] I. Krim, M. Tahar Mezeddek, A. Smail, *The square root of tridiagonal Toeplitz matrices*, International Journal of Advanced and Applied Sciences, 7, No.7 (2020), 92-94.
- [14] I. Krim, M. Tahar Mezeddek, A. Smail, On powers and roots of triangular Toeplitz matrices, Applied Mathematics E-Notes, 22 (2022) 322-330.
- [15] M.I. Smith, A Schur algorithm for computing matrix pth roots, SIAM J. Matrix Anal. Appl, 24 (2003) 971-989.
- [16] B. Yuttanan, C. Nilrat, Roots of Matrices, Songklanakarin J. Sci. Technol, (2005). 27, No.3, 659-665.